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‘Before answermg the questiorts, ‘candidates
should enstire that they have been supplied
_the correct and com;alete duestion paper. No
-+ complaint in th:s rega.rd wxll be entertamed
after the examinati bl

,Note. m No. 1is puls:
‘ five questmns in total sclccung one
quésﬁon from each Secﬁtm R

1 (a) Dfﬁ'crenﬁate supcmsed and unsupemsed' ,
' leammg L . Bxao

' (b) Explam the learmng factors A
(<] What are the separabmty hmttatmns ?

(d) Compare perception, deltd and wmneri

take II leammg rules.

. SECTION-A
Explam in detail the structurc of bmioglcal )
. neurons relevant to ANN.. - 20
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3. (a) Use Mc Cuﬂoch Pitts neuron . to~ design
logic networks of AND and OR logic
function. . " . . 8

“(b) Implement the perdeptmn rule trammg of

__the ‘network using ﬁnct)=sg:1(net},ea1 and

o the 4foﬂqwing data specxfylng the initial

Repeat the trainmg sequence (xl dl),
(xz, d2). auntil two correct mpdhmani‘*a

ohmned dunng traimng

percephon_ training: algorithm for thne
"'f”iaﬁlg claBsiflextidt. -

trainmg alognthm forc = 1 that provide
" the followmg classxﬁcatxon to four
; patt,ems '
E Xl -{,[1 1] x3 [3 1] d1== Swl class 1
X2=10.5, 1] xd = 12 1, gz-m = -1: class2

':-‘Perform ‘the . tra;nmg task start;mg ‘with
'imtial weight vccterw'-» { -2.3 1'75]1 10

5 (a) Explam error back propagaticn trammg
algorithm. SR 46_' :

mas-wso oo (2)
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_Tow .are, achieved. List. the netk values

4(33E3Pm the siﬂgle : mﬁnuoue, h
O\ mtior 10
: {5)« 'Implement the. smgle dlscmte perceptmn ’
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(b) ‘For th;q n/w shawn below analysc a smglc

” tbejmhahzedn/w bydmng the following :
Find weight matrices w. a.nd AN

(n) Calculate nct;, y, netg, 0. s

ui) Calcula,te slopes f' {net;) a:nd £ (netk)

(1v) Com’pute error mgnals 60 and 5j _] E

) Coﬁpute Avahd AW :

(vi) Fifid undated wexghts

o Assumef(net) {1+exp{net)]-1 andn;i -

3 Th weig#xt m&tﬁxw for a ﬁ/w With_ bzpalar |
,.f.,dfw~~""”mnaryneuronsia givm as 20 -
ST B T
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Fileg A tﬂd and P & T
are zcro Oompare the ‘values of energy for
;‘va[:l 1111 andv= [-1-1 Tl =tft

(a) Expldin the association encoding and "

w

d i/p of neumns

decodmg and stabxlity considerdtion for
bldxrectxonal assoclative mernoty 10

(b) The linear assomator has to assoclate

the following pau- of vectars ;. 10

sl = [1/2 % % %]1 > = [0 1 op
s =[1/2 -5/6 1/61/6]* ->fei=[1 0 1)t
- 8= [1/2 1/61/6 -5/ ~>f1=[0 0.0}

(1) Verify that vcctors &), sﬂl 8831 are

L orthcnormal S
" (2) Create partii
o each
'(3; cempute the tﬁtﬁ%‘we;ght matnx
'SECTION-D -

'8 Exphén in. detaﬂ unsuperwsed iammg of
"o clusters. - 20
Perform the first’ 1earmng cycle using the
following normalized patternset: . 20
- {x1, x2, x3 x4} = {1<45° 1< 135° 1<90°
-1<180°}anda=05 2

Using the winner take all trainmg rule for
" two cluster neurons. Draw . the resulting
 separating hyperplanes. Initial weights are to
‘be assumed wle= [1 0]* and w2° = [0~ 1]1

rtrm——rrl
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